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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Solve each problem

1) 37 - 31 = 6

2) 25.006 - (-85.8) = 110.806

3) 14 - (-50.006) = 64.006

4) 46.004 + (-46) = 0.004

5) 37.07 + 25 = 62.07

6) 17.27 + (-4.016) = 13.254

7) 77.7 - (-57) = 134.7

8) 48.097 + (-76) = -27.903

9) 31.007 + (-54.29) = -23.283

10) 64.4 - 75.612 = -11.212

11) 15 - 52.003 = -37.003

12) 33 - (-35) = 68

13) 84.4 - 56.4 = 28

14) 48 + 37.5 = 85.5

15) 68.8 - (-25.6) = 94.4

16) 97.04 - 32 = 65.04

17) 43 - 58 = -15

18) 18.3 - (-55) = 73.3

19) 45.005 + (-80.435) = -35.43

20) 70 - (-5.1) = 75.1

Answers

1. 6

2. 110.806

3. 64.006

4. 0.004

5. 62.07

6. 13.254

7. 134.7

8. -27.903

9. -23.283

10. -11.212

11. -37.003

12. 68

13. 28

14. 85.5

15. 94.4

16. 65.04

17. -15

18. 73.3

19. -35.43

20. 75.1
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Modified

Solve each problem

0.004 62.07 13.254 -27.903 68

64.006 -37.003 6 -11.212 -23.283

134.7 110.806

1) 37 - 31 = 6

2) 25.006 - (-85.8) = 110.806

3) 14 - (-50.006) = 64.006

4) 46.004 + (-46) = 0.004

5) 37.07 + 25 = 62.07

6) 17.27 + (-4.016) = 13.254

7) 77.7 - (-57) = 134.7

8) 48.097 + (-76) = -27.903

9) 31.007 + (-54.29) = -23.283

10) 64.4 - 75.612 = -11.212

11) 15 - 52.003 = -37.003

12) 33 - (-35) = 68

Answers

1. 6

2. 110.806

3. 64.006

4. 0.004

5. 62.07

6. 13.254

7. 134.7

8. -27.903

9. -23.283

10. -11.212

11. -37.003

12. 68

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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